3.5 Glycolysis Practice				Name:
1. T or F  Glycolysis is a multi-step process.   
2. T or F  Glucose comes from the water we drink.   
3. T or F  Glycolysis means glucose splitting.   
4. T or F  Energy for glycolysis comes from GTP.   
5. T or F  Pyruvate, NADH, and ATP are the products in glycolysis.   
6. T or F  Two NADH molecules are produced per glucose molecule by glycolysis.   
7. T or F  Glucose, NAD+, ADP, and inorganic phosphates are reactants in glycolysis.    
8. In order to start glycolysis, _____ is needed. 
a. 
b. ATP
c. H2O
d. CO2
e. Air
9. 
10. One 6 carbon glucose molecule become how many 3 carbon pyruvate molecules after glycolysis?
a. 
b. One
c. Two
d. Three
e. It varies
11. 
12. During glycolysis _____ is converted to pyruvate. 
a. 
b. Glucose
c. Cellulose
d. Both A and B
e. None of the above
13. 
14. Give the total number and the net number of ATP produced by substrate-level phosphorylation during glycolysis. 
a. 
b. 4 and 2
c. 6 and 2
d. 8 and 2
e. None of the above
15. 
16. The number of oxygen molecules required for glycolysis is _____. 
a. 
b. 0
c. 6
d. 2
e. 3
17. 
18. Glycolysis occurs in _____. 
a. 
b. Cytoplasm
c. Mitochondria
d. Ribosomes
e. None of the above
19. The end product of glycolysis is _____. 
a. 
b. Pruvate
c. Fructose
d. Galactose
e. None of the above

15. Describe what happens during glycolysis. How many total ATP molecules are gained during this stage? 


[bookmark: _GoBack]16. Defend this statement: "Glycolysis is a universal and ancient pathway for making ATP." 

 
